CHEM 3331 Third Hour Exam Summer 20405
July 28, 2005
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la)  Which of the following carboxylic acids is the most acidic, and which is the least
acidie? Explain your answers (this is necessary for full credit). (6 pts)
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Iby  Which of the following equilibria favors products more? Cirele it, and explain
your answer (this is necessary for full eredit). (6 pis)
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2a}  Predict the products of the following reactions. Show stereochemistry where

appropriate. (15 pis)
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2b) Provide the reagents necessary to carry out the following transformations. Some
transformations may require more than one step (18 pts).
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3a)  The Wieland-Mischler ketone is a common precursor to the synthesis of steroids.
Design a synthesis for this ketone using starting materials that contain 6 carbons or less,
and any inoreamc reagents (8 pls),
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3by  Design a synthesis of the compound shown below starting from acetone and using
arganic reagents of 6 carbons or less, and any inorganic reagents (9 pts).

Jﬂ.ﬁﬂ:{ﬂwﬂ

—

-, O oM A o ”(mlcuu o)

—y %
'JL l)HJ?\( )k/kl/ -H.0 2) Hgﬂ'@'

Cow show ag ene efﬁ'ﬂth'ﬂﬁ 8¢ use NaOEt/Fod/a

3e)  Show a synthetic sequence to carry out the following transformation. You may
use organic reagents containing 3 or fewer carbons, and any inorganic reagents (6 pis).
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4) Daw an arrow-pushing mechanism for each of the following transformations.
Show all necessary lone pairs, formal charges and arrows.
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